
1 
 

 

 
njhilfs; 

 njhilfs; vDk; ghlk; njhlu;ghd xU tpdhTf;fhd tpilfs; tpsf;fj;Jld; ,q;F 
jug;gl;Ls;sJ. mjid ed;F mtjhdpj;J mjd; fPNo jug;gl;Ls;s gapw;rp tpdhf;fSf;F tpil 
vOJf. 
 

 Fwpj;j ghlrhiy xd;wpy; gzpg;GupAk; 52 Mrpupau;fspy; 30 Ngu; Mz; Mrpupau;fs; Mtu;. mjpy; 25 
Mrpupau;fs; jdJ nrhe;j thfdj;jpy; ghlrhiyf;F tUk; mNjNtis 5 Mrpupau;fs; nghJ 
Nghf;Ftuj;ijg; gad;gLj;Jk; ngz;fshtu;. ,j;jfty;fis ntd;tupg; glj;jpy; gpd;tUkhW 
fhl;lyhk;. 

 

 

 

 

 

1. nrhe;j thfdj;ij gad;gLj;Jk; Mz; Mrpupau;fs; vj;jidNgu;.? 
 

 

 

 

  

 𝑛 𝐴 + 𝑛 𝐵 − 𝑛 𝐴 ∩ 𝐵 = 𝑛(𝐴 ∪ 𝐵) 

  

    65  -𝑛 𝐴 ∩ 𝐵      = 47 

          -  𝑛 𝐴 ∩ 𝐵      = 52 - 65 

          -  𝑛 𝐴 ∩ 𝐵 =  - 13 

    𝑛 𝐴 ∩ 𝐵 =  13 

 

2. mg;ghlrhiyapy; cs;s ngz; Mrpupau;fs; vj;jid Ngu;? 
 
 

 

 

 

𝜀 52 
30 25 

5 

Mz; Mrpupau;fs; 
nrhe;j thfdj;ij 
gad;gLj;Jgtu;fs; 

Mz; Mrpupau;fs; 
nrhe;j thfdj;ij 
gad;gLj;Jgtu;fs; 

40 +  25 -  𝑛 𝐴 ∩ 𝐵      = 52 - 5 

40 +  25 -  𝑛 𝐴 ∩ 𝐵      = 52 - 5 

 

Mz; Mrpupau;fs; nrhe;j thfdj;ij 
gad;gLj;Jgtu;fs; 
 

12 

25 

5 

13 27 

40 

tpil 17 
 

khfhzf; fy;tpj; jpizf;fsk; - rg;gpufKt – thuhe;j ghlrhiy 

ghlk; : fzpjk; 

juk; : 10 

jahupg;G : S.Fzrpq;fk; 
Nf / nj`p / = fjpNurd; j.k.tp. 

njuzpafiy 

thuk; : 09 
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3. ntd;tupg;glj;jpy; epow;wpAs;s gpuNjrj;ij tpgupf;f. 

 

 

 

 

tpil – nghJ Nghf;Ftuj;ijg; gad;gLj;Jk; Mrpupau;fs; 

 

 

 

 

tpil – nrhe;j thfdj;ijg; gad;gLj;Jk; Mrpupau;fs; 

 

 

gapw;rp 

1) xU epWtdj;jpy; njhopy; GupAk; 60 Copau;fspy; 20 Ngu; lanyhf; rpk;ikAk; 40 Ngu; 
nkhgpl;ly; rpk;ikAk; ghtpg;gNjhL 12 Ngu; ,U tif rpk;fisAk; ghtpg;gjpy;iy.  
,j;jfty;fis xU ntd;tupg; glj;jpy; fhl;Lf. 
 

i) ,Utif rpk;fisAk; ghtpg;Nghupd; vz;zpf;if ahJ? 

ii) xUtif rpk; khj;jpuk; ghtpg;N;ghupd; vz;zpf;if ahJ? 
 

2) xU fpuhkj;jpy; cs;s 45 tptrhapfspy; 13 Ngu; Fuf;fd; khj;jpuk; gapupLtNjhL 20 
Ngu; ney; gapupLtjpy;iy 15 Ngu; Fuf;fd; gapupLtjpy;iy. 
 

i) ,j;jfty;fis xUntd; tupg;glj;jpy; fhl;Lf. 

ii) ,U tif gapu;fisAk; gapupLk; tptrhapfspd; vz;zpf;ifia fhz;f. 
 

3) xU tpisahl;Lf; FOtpy; cs;s 30 khztu;fSs; 7 Ngu; ,l;ypia kl;Lk; 

tpUk;GtNjhL,18 Ngu; ,l;ypia tpUk;GtJ ,y;iy.15 Ngu; Njhiria tpUk;GtNjhL,15 
Ngu; Njhiria tpUk;GtJk; ,y;iy.  

 

i) ,j;jfty;fis xUntd; tupg;glj;jpy; fhl;Lf. 

ii) Njhir, ,l;yp Mfpa ,uz;ilAk; tpUk;Gk; khztu;fspd; vz;zpf;ifia 
fhz;f. 
 

4) juk; 10 cs;s 30 khztu;fSs; 18 Ngu; Mz;fshtu;. 8 Ngu; ePr;ry; njupe;j 
ngz;fshf ,Uf;Fk; mNjNtis ePr;ry; njupahj ngz;fspy; %d;W klq;fpdu; 
ePe;jf;$ba Mz;fshtu; 
 

i) ,j;jfty;fis xUntd; tupg;glj;jpy; fhl;Lf. 
ii) ePr;ry; njupahj Mz;fs; vj;jidNgu; ,f;FOtpy; cs;sdu;. 

 

nrhe;j thfdj;ij 
gad;gLj;Jgtu;fs; 
 

nrhe;j thfdj;ij 
gad;gLj;Jgtu;fs; 
 

Mz; Mrpupau;fs; 
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5) xU fpuhkj;jpy; trpf;Fk; 700 fpuhk thrpfspy; jkpo; nkhopapy; Ngr njupahjtu;fshf 
350 Ngu; ,Uf;Fk; mNjNtis 250 Ngu; rpq;fs nkhopapy; Ngr Kbahky; 
,Uf;fpd;wdu;. ,uz;L nkhopfspYk; Ngr njupahjtu;fshf 100 fpuhk thrpfs; 
fhdg;gLfpd;wdu;. 

 

i) ,j;jfty;fis xUntd; tupg;glj;jpy; fhl;Lf. 

ii) ,uz;L nkhopfspYk; Ngr $batu;fs; vj;jidNgu;. 

iii) jkpo; nkhop njupe;jtu;fNshL Ngrf; $batu;fs; vj;jidNgu; ,f;FOtpy; 
cs;sdu;. 
 

6) xU fiy epfor;rpapy; fye;J nfhz;l 70 fiyQu;fspy; 40 Ngu; ngz;fshtu;. 
mj;NjhL ghlf;$ba fiyQu;fs; 50 Ngu; Mf ,Uf;Fk; mNjNtis ghlnjupahj 
Mz; fiyQu;fs; 15 Ngu; ,f;FOtpy; cs;sdu;. 
 

i) ,j;jfty;fis xUntd; tupg;glj;jpy; fhl;Lf. 

ii) ghlf;$ba ngz;fs; vj;jid Ngu; ,f;FOtpy; cs;sdu; 

iii) ,f;FOtpy; cs;s Mz;fs; vj;jid Ngu;. 
 

7) A,B vd;gd Xu; mfpyj; njhil 𝜀 apd; ,U njhilg; gpupTfshf ,Uf;Fk; NghJ 

𝑛(𝐴⋃𝐵) I 𝑛(𝐴), 𝑛 𝐵 , 𝑛(𝐴⋂𝐵) Mfpatw;wpd; rhu;gpy; vLj;Jiuf;f. 

,jpypUe;J,𝑛 𝜀) = 20, 𝑛 𝐴 = 16, 𝑛 𝐵 = 17, 𝑛  𝐴⋃𝐵 ′  = 1vdj; 

jug;gLk;NghJ     𝑛(𝐴⋂𝐵) If; fhz;f. 
 

 

 

 

 

 

 

 

 

 


